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N.B. 1) All questions are compulsory.
2) Figures to the right indicate full marks.
1. A) Choose the correct alternative : (any eight) - 08

1) Lord Mahavir is¢he 24" Tirthankar of

(Jainism, Buddhism, Judaism) :

2) Hinayana & Mahayana are the two major schools of thought in
(Jainism, Buddhism, Hinduism) ‘

3) Mental retardation means when lmclhgence Quottent score 18 below
(70, 110, 99)

4) Deficiency of Vit

« (A,B12,D3)
5) is a solution™t

' ion i@ﬂunalism.
(Capitalism, Patriotism, giagism)

Sl tiﬁca_tion‘.

" may cause blindness. -

6) Caste system is a form of
(economic, social, political) .

7) As per Article 168 of the Indian C@ ion the houses of State legislature can be
Unicameral or & ‘

T

) (Bicameral, Multicameral, Tricameral) .
8) g?tégc)ridipg'_'to the Indian Constitution there are o types of emergency. o
“(two, three, four) 2 ‘ Q )
§ 9) According to the  Amendment Act of Indian stitution the provisions related

;- “to Panéha‘yahraj are enumerated.
P T3, 745, 75Y)
2 l@) 1s -anational party
(Akah Dal, Telugu Desam, Bahujan Samaj Party)

o A

yB) 'State'@-li_"éther the following statements are True or False: (any seven) 07

1) Prophet Mohammad Paigambar founded Islam.
& AR Th&eﬁght fold path was given by Lord Buddha.
<F 3) Raja Rﬁmmohan Roy opposed Sati System.
T I'_“__'C-ataraetls nbt related to blindness.
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5) The Indian Constitution has not taken efforts to prevent economic and caste inequal
6) In Hinduism there are five varnas.

7) 26™ November is observed as the Constitution day. _
8) Dr. B.R. Ambedkar is the chief architect of the Indian Constitution.

9) There is 100% political participation of women in India. :
10) Defections is a major problem for all political parties-in India. ;

I ' =.
2. Enlist & explain the socio-economic problems faced by women in India. ]
OR |

2. Discuss in detail the problems faced by Socially Handicapped Persons.

3. What are the measures to overcome the problems of communalism inIndia.
' OR

3. Dig€us®the problems of regionalism,

4. ExplainQ - and Communal harmony as crucial values in lndian.'-Society.
' _ OR

4. Explain the basi of Indian Constitution.

I A the role and s ! ce of women in politics.
| @ OR
v .I : ) ‘_-_. . . ’
5. Wity Biget ptieiin® (ny ge)p

a) ~T§i§a1 _§b&r‘a§t§ﬂ§§ics.

b). ‘Status of Wwomeh in the vedic period”
' ©) Linguistic conflicts in india.

d) Fuﬁdaniéntal, d’ii;i‘es-of Indian Citizens,
~e) Political party system in India.

h
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[Time: 2% Hours] [Marks:75]
Please check whether you have got the right question paper,
N.B: 1. All questionsare compulsory.
2. Figures to the right indicate full marks.
3 Dr_a!w neat and clean diagram wherever necessary.
. State whether the following statement are True or False. (Any 8) (08)
. External environment is uncontrollable.
. Business and objectives are dependent on each other.
Unethical practices are accepted in the society. -
. Entrepreneurs are important for social gi;dhpﬁ?-ic dév;elc_iﬁm'én-t.
. Consumerism creates awareftess among the consumers regarding their rights and responsibilities.
. Corporate Governance 2ctors accountable. 1
.--Wor'ifi Environment day is celefratél on 6" June.
. WTO was replaced by GATT.
. Export promation is possible through4DlI.
. Tay evasion is sccial responsibility towards @mers.
. Match the following: (Any 7) / (07)
Column A e Column B .
1. Technological Environment Investment above Rs.25 lakhs and upto
Ks Hrore -7
2. Regulatory Environment B. | lifter al Business
3, Small Manufa ctu-ri_ﬂg.Eq;erprises. C. | SEB
4. | Small Service Enterprises D. | Adulterated Products.
o FDlin Infrastructure E. | 100%
6. | Carbon Credit F. | Investment above Rs.10 lakhs and upto
Rs.2 Crore
T Going Global G. | Traded on Multi Commodity Exchange
8. State C_clnsumer-'R.edressal H. | Proper Wages and Salary
Commission

Responsibility towards employee

Entertain complaints above Rs.20 lakhs
upto Rs.2 crore

10.

Unethical Practices

Research and Development

TD6EC292B2FC449D3E415A2ACOC3F079
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Q.2

Q.3

Q.4

Q.4

Q.5
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- State various objectives of business. Explain any one in detail,
b. Discuss the guidelines in formulating business objectives.

OR

C. Explain benefits and limitation of environmental scanning.
. Describe features of business environment.

. Efplain in brief the concept of ethical dilemma.
b. Explain the features of MSMEL-Act, 2006,

OR
Discuss the reasons for slow growth of consumerism in India.

. Enumerate the features of Corporate governance.

- Explain the arguments for social responsibility of business.

tailed note on corporate culture.
OR

. Discu sure for ecological consciousness at business level.
. State an e@he features of social audit,

. Discuss the merits of

Explain the stratfgiesffor foing global. Explain any one strategy in brief,

OR /&
Write short notes on: (Any 3) &
i. Ethical Climate X
ii. Carbon Credit ‘/
iii. World Trade Organisation O

iv. Balance of Trade
v. Positive Implication of FD|

7D6EC292B2FC449D3E4] 5A2ACO0C3F079



(08)
(07)

(08)
(07)

(08)
(07)

(08)
(07)

(15)
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[Time: 2% Hours]

Please check whether you have got the right question paper.
N.B: 1. All questionsare compulsory.
2. Figures to the right indicate full marks.
3. Braw neat and clean diagram wherever necessary.

. State whether the following statement are True or False. (Any 8)

. External environment is uncontrollable,
. Business and objectives are dependent on each other.

. Unethical practices are accepted in the society.

. Entrepreneurs are important for social economic development.

_6. Cagporate Governance es Pirectors accountable.
7. World Ervironment day is c&lebfbted,on 6 June.
. WTO was replaced by GATT,
. Export promotion is possible through F

10, Tax evasion is social responsibility towarrs.

a
1
2
3
B
5. Consumerism creates a ss among the consumers regarding their rights and responsibilities.
6
7
8
9

[Marks:75]

Q.1 b. Match the following: (Any 7)
Column A Column B
- 1. | Technological Environment . | Inve®ment above Rs.25 lakhs and upto
W= ®| g€ grore
2. | Regulatory Environment B. | Int€rnational Business
_ 3. | Small Manufacturing Enterprises. C. | SEB
4 4. | Small Service Enterprises D. | Adulterated Products.
5. | FDlin Infrastructure E. | 100%
6. | Carbon Credit F. | Investment above Rs.10 lakhs and upto
\ Rs.2 Crore
7. | Going Global G. | Traded on Multi Commodity Exchange
, 8. | State Consumer Redressal H. | Proper Wages and Salary
- _ _ “Commission
' 9. Responsibility towards employee . | Entertain complaints above Rs.20 lakhs
upto Rs.2 crore
10. | Unethical Practices J. | Research and Development

- e TD6EC292B2FC449D3E415A2ACOC3F079

il

(08)

o7




Q.2 a.
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State various objectives of business. Explain any one in detail.

b. Discuss the guidelines in formulating business objectives.

Q.2 c

OR
Explain benefits and limitation of environmental scanning.

d. Describe features of business environment,

Q.3 a.
. Explain the features of MSMED Act, 2006.

o
Explain in brief the concept of ethical dilemma.

OR

. Discuss the reasons for slow growth of consumerism in India.

d. Enumerate the features of corporate governance.

Q4 a.
. Write a detailed note o rate culture,

Q.4-c

Q.5 a,

Explain the arguments for social responsibility of business.

. Distuss the measure for ecolg@icaPconsciousness at business level.
. State and explain the features @f sogfal audit.

. Discuss the merits of MNC's,

Explain the strategies for going global, 6ny one strategy in brief.
OR /@
Write short notes on: (Any 3) @

i. Ethical Climate %

ii. Carbon Credit - ‘/

iii. World Trade Organisation O

iv. Balance of Trade
v. Positive Implication of FDI
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[Time; 2} Hours] [ Marks:75]

Please check whether you have got the right question paper.
N.B: 1. All questions are Copmpulsory.
2. Figures to the right indicate full marks,
3. Draw diagrams wherever necessary.

Q.1 a) State whether the following statements are True or False. (Any Eight) (08)
Opportunity costs arise becalise resources are unlimited.

[

2. Anexogenous variable is within an economic model.
3. Income elasticity of demand for normal goods is negative,
4. The Delphi method uses time series data.
5. Average cost increase due to increasing return to scale.
6. Anincrease in price will decrease the break-even point.
7. Product sold in monopolistic competition is differentiated.
8. AKinked demand curve indicates price rigidity in non-collusive oligopoly.
9. Transfer pricing is regulated by overnment.
10. Price discrimination is not pr fhelasticity of demand is the same in different market.
b) Match the following (Any Seven (07)
Group ‘A Group ‘B’
1. Extension of demand a) Demand forecasting for intermediate product
2. Macro economics | b) Equal product curve }
3. Promotional elasticity ) Large number of buyers & sellers
4. End-use method ternational price discrimination
5. Isogquant n price of product falls
6, Fixed cost rice in initial stage N
7. Perfect competition L
8. Cartel formation [ ysis of national income
9. Dumping
10. Skimming pricing j) Selling cost
k) Advertiseme y -
1) Learning curve
Q.2 A) Explain the nature of demand curve in different markets. (08)
B) . What is demand farecasting? Explain the survey method of demand forecasting. (07)
OR
0) The demand equation for Sugar is given as Q 4, = 200-5P, and the price of sugar is given in below table (08)
Price of Sugar (Rs) Quantity of demand (Kg)
8
10
15
20
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Q.3

3

D)

A)
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Answer the following questions:

Calculate quantity of demand for sugar at given prices.

With the help of above demand schedule draw a demand curve.

Calculate price elasticity of demand when price changes from Rs 10toRs 15.

Explain the geomqp’ical measurement of price elasticity of demand.

Explain the causes for the various stages in the law of variable proportions.
“The LAC envelopes a number of short run average cost curves” Discuss

OR
Given TFC as Rs 145, calculate TC, ATC, AVC, and MC from the following data.
[ Units 1 [2 3 4 5 6
TVC 30 | 55 75 | 105 155 225

What is break-even pgft? Explain the limitations of break-even analysis.

What is monopoly? What @eatures?
Explain the kinked demand othesis in an oligopoly market.

R

Explain the role of advertisement¥ng onopolistic competition,
Explain the short run equilibrium of 3 fr the perfect competition with the help of suitable

diagrams.

What is price discrimination? Explain the differe ghees of price discrimination.

Distinguish between marginal cost pricing & Tl @ic‘mg.
*

OR
Write short notes on (Any Three) L 2 /
Scope of Business economics
Types of demand forecasting
Producer’s equilibrium

Features of oligopoly
Dumping

Pt T T T L S L E L LS
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(03)
(02)
(03)
(07)
(08)
(07)

(98)

(07)

(08)
(07)

(08)
(07)
(08)

(07)

(15)



